Tutorial 9 Answer

	130.14.160.0/21
	10000010.00001110.10100000.00000000

	130.14.168.0/21
	10000010.00001110.10101000.00000000

	130.14.176.0/21
	10000010.00001110.10110000.00000000

	130.14.184.0/21
	10000010.00001110.10111000.00000000


Note that the first 19 bits are the same for all addresses so these addresses are aggregated as 130.14.160.0/19.

	120.16.1.0/24
	01111000.00010000.00000001.00000000

	120.16.2.0/24
	01111000.00010000.00000010.00000000

	120.16.3.0/24
	01111000.00010000.00000011.00000000

	120.16.4.0/24
	01111000.00010000.00000100.00000000


Only the middle 2 addresses can be aggregated as 120.16.2.0/23. 

1. Packet is directed depending on the prefix length or the number of bits of the subnet mask. Longer prefixes are always preferred over shorter ones (i.e. longest prefix matching).

In this case, if a packet is destined to 200.100.32.10, it will be directed toward Interface 3 because 200.126.32.10 falls within the 200.100.32.0/26 network (200.100.32.0 through 200.100.32.63). Although it also falls within the other two available routes, 200.162.32.0/26 has the longest prefix within the routing table (26 bits verses 24 or 19 bits).

For the packet destined for 200.100.32.120, it is directed to Interface 2 because 200.100.32.120 doesn't fall within 200.100.32.0/26 (200.100.32.0 through 200.100.32.63) but falls within the 200.100.32.0/24 destination (200.100.32.0 through 200.100.32.255). Again, it also falls into the range covered by 200.100.32.0/19, but 200.100.32.0/24 has a longer prefix length.

